Степень окисления.

1.  Высшая степень окисления указанного элемента равна:

	№
	Элемент
	Варианты ответа

	
	
	    а
	     б
	     в
	г

	1

2

3

4

5

6

7

8

9

10
	Сера

мышьяк

кремний

галлий

азот

селен

бром

фосфор

хлор

 углерод
	+ІІ
- ІІІ
+ІV

+II

-III

+VI

+VII

-III

-I

-IV


	+ІV
+ ІІІ
-ІV

+III

-I

-II

+IV

+III

-IV

+IV


	+VI

+ІV

+ІI

-III

+III

+VI

- I

+V

+V

-II


	-ІІ
+V
+І
+I

+V

+II

+I

+IV

+VII

+II




2.   Низшая степень окисления указанного элемента равна:

	№
	Элемент
	Варианты ответа

	
	
	    а
	     б
	     в
	г

	1

2

3

4

5

6

7

8

9

10
	кислород

фосфор

хлор

углерод

бром 

селен

азот

германий мышьяк

сера
	-І
+І
+VII

-II

0

+VI

-III

+IV

+III

-II


	-II
+ ІІІ
+I
+IV

-I

+IV

+III

-IV

+V

0


	0
0
-I
-IV

+I

0

+IV

+II

0

+I


	+ІІ
-III

+ІII

+II

+V

-II

+II

0

-III

+VI




